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Paper : COM-RE~ 5036 -
(Auditing and Corporate Governance)

OPTION-D 7
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OPTION-A
Paper : COM-RE- 5016

(Human Resource Management)

Answer the following as directed : 1x10=10

e STRIS AU S Ced il s

(@@ Human resource management 1s
actually about the element in

industries, and not the
element. (Fill in the blank)

TTISPZ® TAA H=oW ARGIe Sbee
ToAMICOR A @ S —
SoAMIOR R w1 (e 912 99 #9)

(b) The impact of Human Resource policies

can be measured through their
. (Fill in the blank)
TRare 2 R AR (1 IZ 959 79)

(c) The persons concerned with Human
Resource planning must be clear about
the objectives of planning.

(Write True or False)

AR SO KA =8 27 AR |
(7%7 (71 STy [74)

4 (Sem-5/CBCS) COM RE 1/2/3/4/G = 2

(d)

(e)

| ()

Job analysis is the immediate product
of job description.

(Write True or False)
SR Rrsmd tzrg biofe fagad lewfde
T | (%] (7 T feTl)

Recruitment is the link between

and job providers.
(Fill in the blank)

TR TR I DI SRR e

RN | (I 32 79 )

Tests are used for the purpose of
candidates.

(Fill in the blank)

s g el Sy IR I

el (71 312 739 )

Induction is viewed as ‘a

process.

BT 5!

sifeFa fRe1eel (7l I |

(i) technical
I

4 (Sem-5/CBCS) COM RE 1/2/3/4/G 3 Contd.



(i) mechanical
RIS
fi) social

(Choose the correct anSwer)

(3% @Wﬁraf@@%@m

(h) Development is —___ training

T (AR i |
(i) systematic
Ao

(i) future oriented

ROy

(iii) management

AN
(Choose the correct answer)
(v% T&eh! AR fvsay)
(i) Career development includes :
W IR SWYE (7 WIS
(i) individual career planning
oo TG AfRsml
(i) organisational career planning
Mo TG ARl

4 (Sem-5/CBCS) COM RE 123/4/G 4

(iii) both of the above

ToiraIE IR

(Choose the correct answer)

(w7 TG R TleTed)

() Performance appraisal should be used
mainly to employees as

valuable resources.

(Fill in the blank)
el YRR [0 FHORPTee T
o Ro1eA TR R A

(AT AR 779 F)

2. Write answers to the following questions :

2x5=10
wF eI Tew {8

(@) State two differences between human
resource management and human

resource development.
e 757 AL Tl 4

(b)) Why is an employee exit policy needed
in an organisation ?

ofSB Gore FAGITT AfFzorw Wb [
AT 2

4 {Sem-5/CBCS) COM RE 1/2/3/4/ G 5 Contd.



(d)

(e)

Write answers to an
Yy jour .
questions : four of the fgiol\‘m
=20

State fwo limitations of job eval

SRR TR ﬂ?fﬁmaﬁﬁTﬁRnw:@wl

Mention two examples of frip

as payment made for ‘time ngte \nglf fit
eq’

IR TR T AR AR T 2y e

70! SIER GrE 4 | ™

Briefly state the concept of
security. >

e R 4RS! S e

Ocia]

ng

=TS il TR Rt 56 Sew e o

(a)

()

(c)

Discuss five important benefits of
employee empowerment.

TR FRRER #fi50! @i 4t Sia
= |

Explain the need fo
. r Human e
Information System. Resourc

I8 A7 Aref 7fes eareEnae! 1 1 |

Explain the chall ‘
‘ enges faced b
professionals during their career. d

LRI AT (SR TG FTRATS
EXRE mamﬁqunw'\

#(Sem-5/CECS) COM RE 1/2/3/4/G 6

uation

(d) Discuss the various alternatives 0

downsizing in an organisation.
ﬂ%ﬁﬁtﬂW6§Wﬁ§YWﬂ$ﬁﬂﬂﬁﬁﬁlﬁﬁﬂﬂ1§
A 4 |

() Explain the various
transferring an employee-

1T o e A SRR I

vantages of Human

purposes of

() Discuss the ad
Resource Accounting.

ST 7ef TRl FfAPTLE Sl |

4. Answer any four of the following questions :

10x4=40
e fral e frea b Oed ol @

(i) Discuss the various roles and

competencies of a new age Human

Resource manager.
R 51 SR I AT e P WA
el AL SCEol F |

(i) Interviews suffer from some limitations.

Describe these limitations and also

discuss some measures to make
5+5=10

5+5=10

interviews effective.

4 (Sem-5/CBCS) COM RE 1/2/3/4/G 7 Contd.



(i)

(iv)

(v)

ﬁmaﬂwma‘mw@w

Expla‘in‘the characteristics of g good
selection test. Also describe some of
the commonly used employment tests

4+6=10

f"mwﬁ?fmﬁwmmmwl
R ot 1) , - '

ADISCU-SS the process of Performance
ppraisal. Also describe some of th
mode.rn methods of perform .
appraisal. 6 2“06

+4=10

ol TR afFae R[a SIS 359 |
IS ARTPYet et <=1 g s fon

e 31 w1

Wh i
v r:z ar'e the various interna] sources
trendru‘.ltment ? Also explain the recent
S In recruitment system.
S5+5=10

PR

fifen wremi BT 7z 3 R spoige
IPER RS Rifey ARTSINYZ 1t 5y |

4 (Sem-5/CBCS) CoM RE 12/314/G 8

Discuss the various dimensions of
h in an organisation.
that may

(v)
employee healt
‘Also discuss general measures

alth.

be adopted to ensure good he
5+5=10

1T e Rfen PR S
IS CoSeeR TAY A PR 9% T
ot e R R AT e
-job and off-

(vii) Discusé the various on-the
5+5=10

the-job methods of training.

(viii) Explain some of the causes of poor
employer-employee relations. Also.
suggest measures to improve industrial

relations. 5+5=10
i) o S FHIRR TwE gEeTo g
TR I | T ST T TS
SaskiscuRa Ll ' .

4 (Sem-5/CBCS) COM RE 1/2/3/4/G 9 Contd.



OPTION-B
Paper : COM-RE- . .
>26 ~ (i) Which one of the following 18 pot
(Principles of Marketing ) Controllable forces of Marketing
1. Answer the fOll . . EnVironment ?
owing as directeq - 1x10 &I AR T 0! IcrRelal &
TIPS FRTSISTIT Bew fira ¢ 0 A |
(i) “Who proposed the ‘Soci (@) Suppliers
Soc
Concept’? ietal Marketing cl
Population growth
@I TR () ‘
OIS ARACD! SMoRpiafe syl R
(@) N. H. Borden B () Marketing mix
P ap— _ » Sl et N
: (d) Marketing Intermediaries
(b) Philip Kotler TR NGEI
| feiel w5 ' } (Choose the correct answer)
_ (om TewCo! AR TEIST)
() Harry L. Harsen (iiij) Consumer behaviour is affected by
& @ BT (oie S reRlEe T
(a) Family
(d) Ben E. Enis ' iz
@ 3 9f¥p . (b) Age
(Choose the correct ansu-; RN
(o5 B er) . (c) Income
4(se 7R S e
m-3/CBCS) COM RE 1/2/3/4 '
/G 10
Contd.
4 (Sem-5/CBCS) COM RE 1/2/3/4/G 11




(d) All of the above
@RI ! (LD
(Choose the correct ¢
ns

(iv) Which one of

_ e of the f i

included in demograp}?iléowln
of market ? >

TGS T ?
(@) Gender
fereat

(b) Age
Bpir)

(c) Lifestyle
G -

(d) Income
i

Ch
(Choose the correct answer)

v) B (o5 Bewchr iR
‘ read and Milk’ is an e @7%\9@‘)
NI o »rE5T 7 ,xam_ple of
(@) Speciality goods

4 (Sem-
m-5/CBCS) COM RE 1/2/3/4/G 12
Contd.

wer)

(%% WW%@W)

g is p
ot

e |
CPILD! SR SIS T R

(b) Convenience goods
sigi THIOS AN

(c) Shopping
e 3 TR Feh

(d) Unsought goods

e A
(Choose the correct answer)

(7 TEI! qifz Tferssn)

«product life-
recognise distinct stages i
history of the product.” Who gives this

definition ?
‘wﬁaﬂs@”mﬁmzﬁmﬁmﬁ
i BAEeR 4F o B T
it Ttz -
(@ C. R. Wassén
RIS
(b) J- F. Robenson
@ @ TR
(c) D. T. Kollat
% f 3=
(d) Philip Kotler
feferel SR

(Choose the correct answer)

(o7 TGO IR Blered)

(vi)

4 (sem-5/CBCS) COM RE 1/2/3/4/ G 13



TN

(vii) “Producing a cheaper prodyct :
focus of the product conCels e
marketing”. (State True of Ilit of

Q

RS I TN TeAMTHAZ a7 ¢ lse)

»

(9% 7 <195 foy

(viii) An underdevelo
ped country is pri .
a buyer’s market. pnmarﬂy
(State True or False)
I SRS (7 A4S (ol IS |

| (%% 7 il ]’%W)

() The first step in consumer b
u

process is ying

(Fill in the pj
Tolrera ank)
Tl T e wley syfy

| (T 32 739 )

' - pricing polic
high price is set for a 'newy,pfoc‘llery
uct

initially and
' gradually the price
as competitors enter the }::::kriduced
et.
(Fill in the blank)

TN Tfow oo o

(.X.') Under

™ Syee
T I R TN ot s
A = (R 372 o2

4 (Sem-
(Sem-5/CBCS) com RE 12314/G 14

Contd.

2.

s very briefly :

2x5=10

Answer the following question

m@@ﬂswmwwmg

is micro-marketing environment ?

() What
s AR fee

@ii) What is social marketing ?

mﬁﬂsz@wwﬁtﬂ%qm
(iiij) What do you mean by consumer
‘behaviour ?

SoreieR ol IFTE & 3@
v) What is product diversification ?

7 o 62
(v) What is Trade Mark ?

afifers oz &2

(i

uestions

Answer any four of the following q
5x4=20

briefly :
wersfwal el Siaor eI Y Teq ol ¢
Explain the societal marketing concept.

SS-RED) ISR Qe I A

@

4 (Sem-5/CBCS) COM RE 12/3/4/G 15



N

Distinguish bet

1) wee
g

marketing.
22 wIF TR AR gy, R
I
(i) What are the €ssentig) |
packaging ? S of |
m good :
s AR RO T vy |
(iy) Explain features of a proq |
Uct,
R @S TR T |
(v) What is the objective
segmentation ? °f may k
€t
TER Relftrosei Srmipg &
?
(vi) What
inﬂzenare the personal fact,
ces the consumer behg 'S that
vi
(SIER ABITS 2OR (R Gfpors o;r i
S
g

R e

Explain Nature of Marketin

philosophy pertaining to mavkerns, ¢ (7€

arketing concept

f@w«ﬁqﬁaﬁwwnmq S5 mﬁ%o
PSP TR b 1oy =1 h
|
4IScm-5/CBCS| COM RE 1/2/3/4/G 16
Contd.

OR/ T
g mix ? Discuss briefly
k of marketing mix.

sicetol P4

What is marketin
seven P’s framewor

era fd 2 Forraaaed
mﬁsﬁfww‘@mﬂwl

What is the nature of consumer behaviour ?
and social factors that

Discuss economic :
influences the consumer behaviour. 10

@WW«%?WW%@?@W
ww@%mm@@m

OR/ T

ket s‘egmentation? Discuss

What is mar
t segmentation.

bases used for marke
ToR Rerem &2 @ Fofore I o
FyE. S 40|

an by product ? Discuss

6. What do you me
the different stages of product life-cycle.
10

Wqﬁﬁﬁw?wﬁaﬁmﬁﬁ-ﬁwm
S T4 | .

4 (Sem-5/CBCS) COM RE 1/2/3/4/ G 17



~1

.middlemen in distribution channe]

OR/

What is product packaging ? )
role and function of product paclicuss

a .
v oA e Gy g‘hg_th“
wiE L] el B R 8

W_hat are the various objectives

Dl_sc?uss the_ e_xtemal factors whj Cgf Ticip

pricing decision of a product. et ti?
&

7 e Rfem SrnaR 6 162 7 e lo
sfoRfTe 3 ARTE SAMINEIR Stetivay W‘Tﬁ%

OR/ ¥

What do you mean
by ch

distribution ? Discuss briefly fun ti
Cliong
of

el e gfereeT o qart 2 Rwsers we
p ? TS TFR
Wﬁsﬁmwwl _ o ﬁ%

4 (Sem-5/CBCS) COM RE 12/3/4/G 18

Contd.

w

1=

OPTION-C

Paper : COM-RE- 5036

(Auditing and Corporate Governance)

directed :

wing questions as
1%x10=10

Answer the follo

memmms

stematic ——— of the

(@) Auditing is a sy
rds of a business or

books and reco

other organization.
(Fill in the plank with appropriate word/

words).

faptet SIS ZaT @51 I LA T cacl!
m@ﬂ@mwwﬁﬁﬁ%ﬁ

|
(o 7w AT 3% #39 1)

—

() The word, “Audit” has been derived -

. from the Latin word ————
(Fill in the blank with appropriate word/

words)
«pudit” =0l @ O ——— woq o<
e 2R _
(G W A IR AT )
19 _ Contd.
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)

N
¢/

()

(e)

)

Section of the Companies A
2013 has contained the provisioCt’
regarding appointment of statut o
auditor. o
(Fill in the blank with a '

ippropniat
words) g

e Rl ST AT R
SB[
(N1 B2, 2013 4Rl S|

Cost audit is ;
, compulsory fo
enterprises. y for all

(State whether this
Statem s ¢ F)
or ‘False’) ent is “True

‘Cost audit’ el AfeDme
: AT

2| JNGOIYeTE
(Cfeeh wa 1 oo G 7))

A tax audit
or must
accountant. be a chartered

(State whether thi .
or ‘False’) S| SEniEan S et
9T 9 SR BIGTS '
GFIGTOD (AT
AR | | D
(CfeTs! &% & w7 Gy 33

#(8em-5/CBCS) COM RE 1/2/3j4/G 20

("

(9)

(h)

4 Sem-5/CBCS) COM RE 1[2/3/4/G 21

_the Greek word

el

guarantecs

e governance
netary

evement and mo

t is ‘True’

Good corporat
corporate achi
development.
(State whethe

or ‘False’)
A e e o2 el Gafs oS
(Gfeeh oa (7 T G )

I
The term' ‘Ethics’ has been derived from

r this statemen

(Fill in the blank with appropriate word/
words)

Ethics’ ¥ A 3 A TR
(&oFG T i} 12 97 )
«Ethics” does not have a religious
connotation which «Morality” has.
(State whethér this statement 1is ‘True’
or ‘False’)

. «Ethics” MR T S @ TR 3,
R Ao’ Stz

_(@‘f@zﬁ%mw%@ﬁ#ﬂ)

The idea of CSR started as 2
philanthropic gesture by a few wealthy
businessmen.

(State whether this statement is ‘True’
or ‘False’)

Contd.
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Ty

N\

(d) Briefly describe any two of the my;
corporate scandals in India. 1or |
S\ SINLEG) Rt ¢) Whatis Cost Audit ? Explain the specla
- FOY K PO oty ( dit. 2+8=10
SNE IR | jeatures of cost audl
- @aonwamfiwmqﬁ*w@ﬂmm
(e) Explain the concept of Green R skl
Governance. il ordrmer RO
i Governance [
oG R — (d What is Corporate
0 . ST Rall Explain the features of good Corporate
Erleﬂy explain any five features of Governance. 2+8=10
Oorpo i g eqe '
ﬁﬂﬁz rate Social Responsibility. RN & e vad ﬁsﬁﬁﬂ wed
- ik \%Wﬁmﬁeﬁmm s g w9
A (e) What do you mean by ethics ? Briefly
4. Answer : explain the functions of Ethics
an, : :
. Y four questions : 10x4=40 Committee ? 2+8=10
(@ B S G {%ﬁﬁf{wﬁiﬁsﬁmﬁﬁﬁﬁm
riefly explain th PR RS M A '
Auditing. - ¢ various objectives of .
1 il Explain the concept of Corporate Social
o AR SRR B I T ~ Responsibility. Briefly explain the
(b) Explain the righ ¢ ' provisions of the Companies Act, 2013
company auditogr - and duties of a relating to Corporate Social
Responsibility. 2+8=10

R fZ51ef o1Fraresq
‘: For A Wity AEER @R e,

* {Sem-5/CBCS) o)
MRE 1/2/3/4/ G
24
|
|
| 4 lSem-SICBCS] COM RE 12134/ G 25 ’ Contd.
!
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(g9 What is Internal Control ? Explaj
S ¢ LXplal
distinctions between Internal Cr;l the
and Internal Audit ? 2+8 efk
=10
ot e B 2 TR W g
qeTERN 2l AP TS ¥ MRy
BRSS!

(h) B}:plam the basic consideration of
audit in EDP Environment. -

EDP RS f5iel =R Gl
JRA 1A

*#(Sem-5/CBCS) COM RE 1/2/3/4/G 26

1.

OPTION-D
Paper : COM-RE- 5046
(Indian Financial System )

e answer of the

Choose the most appropriat
C 1x10=10

following questions :
T P O OEd i Sfered &

@ “A financial system isa well—integrated :
set of subsystem of financial institutions,
markets, instruments an
which facilitates the trans
allocation of funds.”
(State whether the st
false)
S IT 9 TR @ S, I,
AR E R G spRaifse ST fa
‘%wmﬁw«vﬁm o E
(GfEeo! o7 7 8T fara)

et deals with which of the

d services
fer and

atement is trué or

(i) Money mark
following ?

PRI AT TR IS Gieo ?
(a) Shortterm fund
e A
(b) Long term fund
AR ffe

4 (Sem-5/CBCS) COM RE1234/G 27 Contd.



() Both (a) and (b)
(a) TF (b) TR
(d) None of the above

@93 A0S T

i) A company can raise funds by is
s

new securities in WhICh of the fOHO 8

market ?

451 (@I 8 (T IG_T Qo
fvgfe sia e 21 <Jfe e 3R sz,

(a) Primary market
CIRIRERT
(b) Secondary market |
RIEEE
() Both (a)and (b)
() % (b) TS
(d) None of the above

89T D18 72

¥ (Sem-5/CBCS) COM RE 1/2/3/4/G 28

o

(iv)

(v)

4 (Sem-5

In which year Bombay Stock Exchange

was established ?

@i fogle R (@ (@ 578 217 =
[k

(@) 1855 (Sree)
(b) 1869 (Srbd)
(c) 1875 (5v26)
(d) 1881 (Svbd)
Which of the following is an agency

function of a bank ?
oo I (R o ST T2
(@) Acceptance of deposit
Il A
(b) Credit creation

34 7R

(c) Remittance of fund

e (2

(d) Merchant banking
o R

|CBCS) COM RE123/4/G 29 Contd.



Nationalisation of banks j
n Indl

Place in : a tOQk

IR (T AT e
(@) 1969 (5553) 5w o
(B) 1980 (33%0)
(¢) 1993 (535¢) 575
(d) Both (q) and )

(@) AT (b) S

(vii) The :
best suit
ed mutual f
und to the

person
wh
O are not averse to risk i
is ;

SRR oS ST 7% A Tewroig
(R SrSHal <ffe ez ¢ Te

(a) Income fund (W fér)
| (b) Balance fund (SRiy +if%)
(¢) Growth fund (Refe i) -
(d) Taxation fu
nd (9 T~y Afe
A =)

4 (Sem-
(Sem~S/CBCS) COM RE 1/2/3/4/G 30

owing is @ fee-bascd

) Wwhich one of the foll

fin

e ceoelB1 g o T T

(viil
ancial service ?

(@) Insurance service

N G
(b) Portfoiio management

gﬁgﬁmﬁﬁmﬁﬁﬁsm

(c) Mutual fund
Srrest

. (d) Leasing
fafer

gulates the insurance sector in

(ix) Who re
India ?
SRTAES (I T ST a2

(@ Ministry of Finance

e Tae
(b) Reserve Bank of India
s o &=
Contd.
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() Insurance Regulatory and 2. Answer the following questions : 279 10
Development Authority of India O] A1 Bwea forall ¢
SRST ) R O B I (@) What is financial system ?
(d) Both (a)and (c) ﬁ@qw e
(a) ST (c) TS | ' (b) What is call money market ?
(x) SEBI was established with the purpose | oI @l IS 534
of (c) Write the meaning of overdraft.
o (B! ST SEBI 2l F1 2fee e | iR o il |
(a) Protecting the interest of investors | (d) What is financial lease ?
in securities market o e e
*ifogfs Ieea RiFcIseIT 71 5w <=1 (e) Mention two objectives of PFRDA.
(b) Promoting the development of PFRDA I 7515t Bred 1 |

securities market - ‘
3. Answer any four of the following questions :

ﬁ%@% TR T A 4 5x4=20
(c) Regulaﬁng the securities market l" Ol ﬁmﬁfﬁﬁﬁm '@@'ﬁ‘zﬂ.%
Ao ITIR Fvgd =1 ‘ (a) State the basic functions of financial
(d) All of the above system. |
@51 TBECED! ' REM IR T PR 1 T4 |
4 (Sem-S/CBCS] COM RE 1/2/3/4/G 33 Contd.
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— / \

(b) Disting etwe
ﬁnancial {nstitutions.

[T €
spjefay (@3

() State the fe
e ORR QTR 3

atures of financial serviceg

(@)

afgfe R (P RG] 6 54 |
(e) Distinguish between capital market and
money market.

offer Fwiq I T TEA TS NI (Tt |
() Discuss the functions of PFRDA.

PFRDA 3 SIS S0l T |

Answer any four of the following questions :
) " 10x4=40

wmﬁmmwﬁm@mﬁm

(@) Discuss the various components of
financial system.

&t IRz Rfea Somm @R ST 1 |

4 (Sem-5/CBCS| COM RE 1/2/3/4/G 34

suish between bank and non-bapy,

w@%ﬁ@ﬂmmw

Describe the functions of stock exchange

4 (Sem-3/

(b) What is capital mar

(c)

(d)

(e)

ket ? Discuss the

functions of capital market. 2+8=10

ﬁﬁ?w@%?ﬁ@ﬁm«mﬁwasﬂl

Discuss briefly the various types of

financial instruments that aré dealt in

money market.

W qETES e (R Sfon e el
AR AR I ALCHCA S 41

What is mutual fund ? Explain the
revalent

various types of mutual funds p
' 2+8=10

in India.
CICERI ?If\ﬁ 2 CSICLENU oipfere A Rifed
oRPE SOOI Afe FTICE T SR

Discuss the role played by SEBI with
regard to protection of investor’s interest.

RIS 1Y 3! 7>>Fs SEBI 1 g
TR0 <540 |

() Discuss the _functi.ons of modern
commercial bank in India.
Tigedde Y AT @F T
SUIGIPDIRSEI

CBCS) COM RE 1/2/3/4/G 35 Contd.



() What is hire purchase ? State
differences between leasing ang hthe
purchase. 2+8=]1r8
BIG! @ A 2 FAER TE O @7 g
2l #N1<f 3¢l |

(h) Explain the duties, powers and functiop
of IRDA. : S

[RDA 3 6, 701 S T 101
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2023
COMMERCE

(Honours Core )
Paper : COM-HC-5026
( Fundamentals of Financial Management)
Full Mdrks : 70
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Choose the right answers : 1x10=10
u% OG0! AR Tferet

i) Which of the following is a part of
financial decision making ?

e @it R Frals FHeieem o 2
(a) Financing decision

e P

Contd.



(i)

() Dividend decision
e s
(¢) Investment decision
Rivcaet Frare
(d) All of the above
ST AR
Which of the following represents the
capital structure of a company ?

ARG @GR @i DR T Mol
sfefafag a3 e

(@) Debt and equities
A IF AR

(b) Equities and preference share
capital

FAH ST AR S oA
(c) All assets

TR 71
(d) All liabilities

ABCAIRR (el
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(iii)

(i)
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Which of the following is also known as

long-term investment decision ?
FTSIG U1 T fafeciel i foiers
Gl T ?
(a) Dividend decision
ey s
(b)) Working capital
FREFIR T
(c) Capital budgeting decision
T A S
(d) All of the above
@A RN

Current assets are twice the current
liabilities. If the working capital is
Rs.2,00,000, current assets would be :

vfere T bfTe (e et | T BRG=R Erew
2,00,000 531 T, 57 i sifkm 21 2

(@) Rs.2,00,000
(b) Rs.4,00,000

Contd.



() Rs.3,00,000

(vii) Increased use of debt increases the

(d Rs.1,00,000
: A . financial risk of equity sharcholders.
(v) The capitalisation of profit is termeq 5 s
S: ol LA P T AT fadmm
Aed FHRITIE A (PRI TN & Rt 9% T
(a) Stock dividend (a) True
33 e ot
(b) Cash dividend (b) False
T TN oy

(viii) Capital budgeting decisions are

(c) Property dividend |
} generally of irreversible nature.

ik | L QITD A offRGTR 2o
YT - ‘
(d) - Bond dividend | A
(a) True
TG eI .
_ ol
(vi) Inve§tment decis.ions are outside the (b) False
purview of financial decisions. " fm
A Pz [ER Fraemzs ARfE . o
T | ~ (ix) The rate of return on investment falls
: with the shortage of working capital.
(@) True
5 PIIR ToTAR SO aAwal sTeet R Ao
EEEanRin
(b) False (a) True
iy S
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2,

(b) False
f

(x) Profitability index is also known gag
benefit/cost ratio.
TR I 7716 /4 T Ifere oray
|
(@) True
51

(b) False
=

Answer the following questions in about 50

2x5=10

RNIe 2hprze 2R Set 50 B i w1 oo
o e

words each :

(@) What is financial management ?

& ARpEmi w15 @IETe
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(b) What is leverage ?
fereitas a1F (A ?

(c) Whatare the various methods of capital
budgeting decisions ?

e e Frate fafen siaforz 6 62
(d) Whatis dividend ?
eI I 2
(e) Whatis permanént working capital ?
7 PRSI T I (A 2

Answer the following questions within 150-

200 words each : (any four) 5x4=20

T 2 SR Ba 150-200 511 f$oTe
forll ¢ (Rica Bifab))

(@) State the nature of financial

management.

& ~ARvemiR e 36 =)

4 (Sem-5/CBCS] COMHC 2 (FoPM)/G 7 - Contd.



. . _ |
(b) Explain the significance of cost of capita], : Or / 44t
TR TS OIesf T = | ,
. o Describe the determinants of capital
(c) Explain the significance and limitationg
of financial leverage. ( structure of a firm.
Ry FreTae Slesid SIF TNRTOPRR Ny | ot efiswia seie N9 FieffaRez <ef
1 |
State the various factors determining the
(d) Explain the capital budgeting process, (b)
e ' 5 sifir | dividend policy of a company. 10
(e) Distinguish between gross working @T"’ﬂ"?f a5 wTeee e TS eIl
capital and net working capital. TR S e
T LR T4 T &7 I TRAR Tfers
2N (7R | or / wt
() Explain the various forms of dividend.  State the various factors determining th?
ﬁ@' 21T FTSII™R R I 3[4 | working capital requirements of a firm.
4.  Answer the following questions within 500- mmqﬁﬁmﬁﬁww
600 words each :
R 3t
TSI eporz &S5 ©%1 500-600 Bf 1 *Rrg
foewe for 2 () Discuss the traditional methods of
(@) Discuss the scope and objectwes of capital budgeting decision. 1S
financial management. 10 P 5 S
Rt st =1 =i SowmipmE S i -
90 Hicetnal S|
Contd.
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Oor / adl

ABC company is considering to purchase
one of the following two machines, the

details of which are given below :

ABC @™ Ree 1ot (has TE= = [

Bt o R P e, (i 7o Rt oo
RIEGH
Year Cash inflow (Rs.) Discount
Machine X Machine Y factor
@10%
Ist 3,00,000 1,00,000 0.909
2nd 4,00,000 3,00,000 0.826
3rd 5,00,000 4,00,000 0.751
4th 3,00,000 6,00,000 0.683
Sth 2,00,000 4,00,000 0.621

Cost of Machine X and Machine Y is
Rs.10,00,000 each.

DT X S (Wfow Y qraibics &fetois 50 29
10,00,000 5t |
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Calculate Net Present Value and

Profitability Index.
AT TETA T WF ASTATS! IHINRE 1l
=

7+3=10
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